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First Lab — Saturday, September 20t ... 1-4pm ... ISB 155/160 (A-E)

a) Read the Lab Policy prior to the this lab.

b) Print lab prior to coming to lab -- use the ‘Print Friendly Version’
located on the top left hand side of the page — this is the version
that contains the ‘Data Sheet’ that you will hand in upon
completing the /ab.

c) Review the sample quiz on class web site — a short 6 question
quiz will be administered at the start of the lab — questions taken
from the sample questions.

Exam | — Tuesday, September 30t - In Class
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4.4

How Do We Balance Chemical Equations?

Example 1

Balance the following chemical equation:

%_Fe;05(s)+ 3 C(s)

_ Reactants

2 Fe 03() + 3Ce9) =

q.
= 2 Fe(s)+ 3 CO(q)
Products | v
Fe 1 2 2 4 4
O 2 2 6 6 6
C '|___| 3_ 3:_ S

4 Fe(s) + 3C02(9)
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4.4

How Do We Balance Chemical Equations?

Example 2

Balance the following chemical equation:

__CHe(g)+ % Ou(g)

CoHe (9) +@Da(g\
G %

2 CaHe (g + 7029

= 2-‘_602(9) * iHZO(I)

Products A
C 1 222
H 2 2 6 6
0O 3 5 1 17

= 2002(9) + 3H20(p)

= hCoa@@ + eH0®
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4.4 How Do We Balance Chemical Equations?

e g)q d) 4
Example 3 E‘“‘ ; b) 2 e) 5
ol e c)3
Balance the following chemical equation:
__AgNOs(aq)+ __K:CrO4(aq) = ?_AggCr‘Oq(s) + ___KNOs(aq)

?  Wis ‘B’Rl}g you SO pmg o
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4.4 How Do We Balance Chemical Equations? — =)

T 1 d) 4
Example 3 o . ?)) ” o) 5
c'e ¢€)3
Balance the following chemical equation:
2’_ AgNO3(aq)+ __ K:CrO4(aq) = ?_AggCrO4(s)+ 2 KNOs(aq)
: Reactants /o Products v/
Ag 1 A2 2 Ag 2 A A
NO:; 1 2 A NQO; | | {2
K 2.2 2 K IR
crOs | 1 | crO; 1 ) |

2 AgNOS (ag) + RaCrOy lag) = AgC\'Oq ( + 2KN03@q)

POQadeic lons .. N\m Rmulmimg \'st\‘\'ac\’ |y as a smng em‘_ig.
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4.4 How Do We Balance Chemical Equations?
Example 4

When the following chemical equation is balanced, the coefficient in front of
the oxygen is:

Boe a)1i d)4

__CyHu(g) + 3. 0,(g) = A .CO,g) + 2 H,0(g) g)g e)5
cl 22 2 cly 2 2 2
H{% & 4y AlR 2 4 4
Ol2 2 X 6 0|3 5 6 6
v v/
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2.6 How Are the Electrons in an Atom Arranged?
A Orbital Shapes
Orbitals Label
4
g 1 ““:;-&::f SP\W eRe 15
x y
Sehere 25
( XaRgeR)
2 l
|
- - =@ g
"233 + \NQR'
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2.6

How Are the Electrons in an Atom Arranged?

Orbital Shapes

Orbitals

Sphege

o83,

2 X L1

0

"4 Peogec\ dover

Label

3s

3d
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